Sr Questions Answers Choice

A. 50 years
B. 60 years
. 20 years
. 80 years

1 The age of a man is according tot he Good book.

oo

. The environment
. the life

. The mind

. The city

2 Cherry tree glorifies.

. Ten

. Twenty
. Forty

. Fifty

3 The poet has lived a_score of springs.
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A. Road
] B. Branch
4 Is hung with boom among the bough. C. Sticks
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. Leaves

. Branches
. blossom
. Stem

. Twig

5 The cherry is hung with_bloom along the bough

. Blossoms
. Beds

. Snow

. Rain

6 The cherry is hung with_bloom.

. Beauty

. In full swing
C. In sadness
D. In fascination

7 And since to look at thigs in_bloom.




